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Time : 3Hrs. Sem. V/I.C.E.

EC. Meas.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 6  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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series RLC resonance CK + by variation of frequency.

RLC

What are various  digital display devices. 

Explain working principle of LED.

DAS

OR

OR

8.

6
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        

P.T.O

In an RC phase shift oscillator, the minimum

number of RC networks required is :

(a) One 

(b) Two

(c) Three

(d) Four

The type of multivibrator used for gnenration 

of clock pulses is ................. multivibrator.

(a) Astabel

(b) Monostable

(c) Bistable

(d) None of these

Write down a brief technical role on AID converter.

AID 

State and explain photovoltaic cell.

OR

6.

4

Answer all Five Questions. 

Explain digital to analog convector. What are its 

important applications.

7.

6

6 x 5 = 30
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P.T.O

(iii)

(iii)

(iv)

(ii)

LEDs are fabricated from:

(a) Si

(b) Ge

(c) Si or Ge

(d) Gallium arsenide

The gauge factor G and Poisson's ratio m are

related as:

(a)  G = 1+ m

(b)  G =  m

(c)  G = 1+ 2m

(d)  G = 1+ m

                 2

5.

4

4

OR

OR

4.
generator?

LVDT

Briefly explain the characteristic of radio receiver.
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P.T.O

(v)

(v)

(vi)

(iv)

                 2

Which of the following is very useful in
measuring the characteristic  the coil and
capacitances?
(a) Megger 
(b) Frequency meter
(c) Voltmeter
(d) Q-meter

The input impedance of TVM as compared 
to that of VTVM is
(a) Same
(b) High
(c) Low
(d) None of these

                                   OR

What is LDR? Describe the important of 

application fo LDR.

LDR LDR 

What is black body? Briefly explain.

gauge.

4

2.

3.

OR

Answer all Five Questions. 
4 x 5 = 20

4
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P.T.O

A microphone is classified as a ..................

transducer.

(a) Thermal

(b) Acoustical

(c) Optical

(d) Magnetic

A photo conductive cell may be called

(a) Photo emissive cell

(b) Photo resistor

(c) LDR

(d) All the above

 .................measurements.

(a) Static 

(b) Dynamic

(c) Both (a)  and (b)

(d) None of these

(vii)

(vii)

(viii)

(vi)(xix)

(xx)

(xx)
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P.T.O

When a voltmeter is connected as an ammeter,

the voltmeter 

(a) Will not read

(b) Give very small reading 

(c) Gives very larger reading

(d) None of these

Thermocouple is a :

(a) Primary transducer

(b) Secondary transducer

(c) Active transducer

(d) None of these

The switching time of  LEDs is of the order

of :

(a) Is

(b) Ims

(c)  Ims

(d) Ins

Which one of the following is an active 

transducer?

(a) Strain gauge

(b) Photo voltaic cell

(c) Photo emissive cell

(d) All of the above

(ix)

(ix)

(x)

(viii)(xvii)

(xviii)

(xix)

(xviii)
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P.T.O

The unit of luminance is :

(a) Lux

(b) Cd
2(c) Cd/m

(d) None of these

The desirable property of LASER beam are:

(a) It has high radiant energy

(b) It can be polarized

(c)  It is monochomatic and coherent

(d) All of the above 

Capacitive transducer are used to measure:

(a) Linear displacement

(b) Angular displacement

(c) Both (a) and (b)

(d) None of these

The effective resistance of a coil at high 

frequencies is more than its dc resistance 

due to:

(a) Skin effect 

(b) Proximity effects

(c) Eddy current losses

(d) All of the above

(xvi)

(xvi)

(xvii)

(xv)

(xi)

(xi)

(xii)

(x)
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P.T.O

(xiii)

(xiii)

(xii)

(xiv)

(xv)

(xiv)

(a) Q = 

 

(b) Q =

 

(c) Q = 

 

(d) Q = 
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The storage factor is expressed as

The optical spectrum has wavelength ranging

form:
6

(a) 10 nm to 10nm

(b) 10 nm to 770 nm

(c) 370 nm to 770 nm
6

(d) 770 nm to 10 nm

Which of the following is correct relation:

NT5067NT5067
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NT5067

Draw and explain the circuit diagram of digital 

frequency meter. 

What is thermister? Explain its important

application.

transducers. What is the difference between them.

suitable diagram.

OR

OR

6

6

9.

10.

171640503

P.T.O

NT5067

Draw and explain the circuit diagram of digital 

frequency meter. 

What is thermister? Explain its important

application.

transducers. What is the difference between them.

suitable diagram.

OR

OR

6

6

9.

10.
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OR

11.

6
phtoemissive cell

Explain the construction and working principle of

LVDT.

***

OR

11.

6
phtoemissive cell

Explain the construction and working principle of

LVDT.

***
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